4 (2008 )
<4.1~45 >
4.3 [ , ]
W =25kN, W,;=3kN, W, =50kN l l
(8) Y= My = 0 ; W We |, §
W (2.0 + 0.9 + 2.0 + 0.5 m)

+ W; (0.9 + 20 + 0.5 m) + W, (0.5 m)
-2 F; (20+05m) =0

1
5.0 m

= 34.04 kN

Fy

[(25 kN)(5.4 m) + (3 kN)(3.4 m) + (50 kN)(0.5 m)]

Fi = 34.0 KN 1

(b) Y>My =0 ;

W (2.0 + 09 m) + W, 09 m) - W,, 20m) + 2 F, (20 + 05m) = 0

5.01m [-(25 kN)(2.9 m) - (3 kN)(0.9 m) + (50 kN)(2.0 m)]

= 4.96 kN

Fy =

Fc« = 496 kN 1

( )zF,=0;

|
v

Ww

2Fk

-W - Wy - Wy, +2 Fy, -2 Fy=-25-3-50+ 2 (34.04) + 2 (4.96) = 0
410 [ , ]

FA =75 kN, Qmin =1 Qmax =7?

F
T, =0 Al TTB Ql
Y>Mgz =0, \ \
A B D E
F, (05 m) - Q (0.75 + 1.5 + 0.75 m) = O
_ 1 _
Q= 55— (75 kN)(0.5 m) = 1.25 kN
TB =0 FAl TDT Ql
Y>2M, =0 ;

F, (05 + 075 + 1.5 m) - Q (0.75 m) = 0

1
0.75m

Q = (7.5 kN)(0.5 + 0.75 + 1.5 m) = 27.5 kN

1.250 kKN = @ = 27.5 kN



4.29

[ hinge , hinge

, hinge (reaction) ]
P =150 N
3 1.25 T
2 . 2 = . = - = =7 A
V3%2+1.25 3.25, T, Tor T, T, 325 T - 1.25
dyp =0175m, dgp = 0225 m, dg = 0.075 m T
Y=M, =0 ; c T
=T, dyp - Tydegp + T'dep + Pdeg =0 E L ]
3 1.25 l Cx b
T m@w* 3:—25dCE_dCD = Pdeg P Cy
= — <15OF2)5(0'225”‘) = 195 N 7 = 195.0 N
m(0.175 m)+ 5(0.225 m)— (0.075m)

L3F, =0;
T + C. =0 Cz—iT:—i(l%N):-lsoN
3.25 3.25

Cy =180 N «
13F, =0 ;
T,+ T-P+ C, =0

1.2 125 _
)= " 30n T- T+ P = Sor (195 N) - (195 N) + (150 N) = -120 N
Cy =120 N |

C=C+ ¢} = V(—180N)*+(—120N)* = 216.3 N

¢,  —120
c. ~ —180

C=216 N 33.7°

= 0.6667 0 = tan'0.6667 = 33.69°

tang =




